Environmental Biology Test #2
Each question is worth 2 pts. This section is worth 40 pts. total

1. The example of squirrels who become geographically isolated in Chapter 3 illustrates what concept:  
a. Genetic mutations
b. Allopatric speciation
c. Extinction of species when they are cut off from each other
d. Competition of species for the same resources
e. Artificial selection


2. Which type of species may be able to adapt fastest to some kind of environmental change:
a. big fierce predatory animals
b. K-selected species
c. all herbivores
d. r-selected species


3. A population of frogs grows to its carrying capacity (k) and plateaus or stabilizes at this level.  The limiting factors exerting this control are predation, competition, disease, resources, etc.  What is the term for the effect from the combination of these limiting factors
a. Logistic growth
b. Environmental resistance
c. Biotic potential
d. Life
	

4.  Natural selection and adaptation will only occur if:
a.  The organisms have been evolving for a long time
b.  If there is some natural selective pressure on the population causing it to change
c.  Humans make it happen through selective breeding
d.  The population is small and isolated
e.  There is a mass extinction event


5.  What does it mean to reach PEAK OIL now?
	a. There is no more oil available to us
	b. It is a warning that we can continue to extract oil at a high rate for many more decades.
	c. We are extracting the most oil we will ever be able to and it will continually diminish from that point onward.
	d. We will be at the highest levels of oil extraction in the future 
	 

6-10  Match the following species interaction strategies to one of the statements below.  You can use an answer more than once.
a.  parasitism      b.  competition																															c.  resource partitioning																															d. co-evolution																												e.  mutualism

6.  white-breasted nuthatch and brown creeper 
7.  sea lamprey and salmon
8.  alga and fungus in a lichen
9.  bats and moths
10.  red-eared slider and western pond turtle




11.   According to scientists, Alan Pounds and Martha Crumb, reduction in the populations of amphibians in the Monteverde Cloud forest in Costa Rica are a result of:
	a.  excessive rain and floods in the area
	b.  the drying conditions in the area
	c.  chytrid fungi infections 
	d.  the fact that they are not specialized
	e.  b and c only 


12. Why do some organisms like harlequin frogs and monarch butterflies have bright colors?
a.  As a warning signal to predators that they are poisonous or distasteful
b.  To attract mates
c.  To blend in to their environments
d.  To avoid direct competition with similar species
e.  So they can obtain more food/resources


13.  Why does only 10% of energy make it from one trophic level to the next trophic level in a food chain?
a.  It gets dispersed (lost) as waste heat due to cellular respiration (metabolism)
b.  It gets consumed by the highest level feeder on the food chain
c.  It gets put back into the soil through decomposition
d.  It gets consumed by the producer
e.  This statement is not true because 100% of the energy will be transferred to each trophic level


14.  After Mount Saint Helens erupted in 1980, what sort of succession occurred in the area surrounding the volcano?
a.  Primary succession					           
b.  Ecological succession					         
	c.  Secondary Succession	
d.  Gradient succession	            
e.  Succession did not occur at all


15.  Which factors have the greatest influence on which terrestrial biome will occur in a certain location?
a.  Soil types and water levels
b.  Vegetation types and primary consumers
c.  Bed rock and mineral composition
d.  Temperature and precipitation
e.   All of the above exert a similar influence on biomes


16.  Which of the following could be considered to be a keystone species?
	a.  woodpeckers
	b.  sea otters
	c.  deer mice
	d.  all of the above are considered to be keystone species


17.  Top carnivores are naturally lower in numbers than organisms that feed lower on the food chain because:
a.  Of a lack of renewable resources
b.  Of a large loss in energy from one trophic level to the next
c.  large animals are mostly herbivores
d.  Of a lack of producers to support more consumers
e.  all of the above

18.  The sum of all the different plant and animal species present in an ecosystem, excluding the abiotic factors constitutes the…
		a.  community
	b.  habitat
	c.  biome
		d.  population


19.  Which species did the invasive zebra mussels benefit?
a.   all species in the great lakes benefited
b.   benthic invertebrates and littoral (bottom) feeding fish
c.   open water fish
d.   phytoplankton and zooplankton
e.   all species were harmed by the introduction of zebra mussels


20.  At what trophic level will you find a decomposer feeding?
																																												a.  1st 																																																												b. 2nd																																													c.  3rd 																																																																		d.  4th 																																																						e.  All trophic levels






































Name______________________________________ Environmental Biology Test #2  Part II (worth 10 pts total)
Put your answers right on this sheet.   Point Values are listed next to each question.

1.   What provides energy for the food chain for all organisms?  In addition to this, what else fuels the human food chain (think of our production of food – where does that energy come from)?  (2 pts)




2. You have an ant outbreak in your house.  You hire an exterminator who sprays an insecticide and tells you they need to come back for a follow-up in one week’s time.  You do not see any ants one week later so you cancel the follow-up appointment.  One month later you are over-run with ants.  What biological concept has just been illustrated and why did it happen in such a short time?  When the exterminator comes back to your house, what might he do differently this time and why? (3 points).  






3.  Why did suburban development seem to make good sense at the time – what made suburbia possible? (think in terms of natural resources) (1 point)



4.  What is one way that our suburban lifestyle contributes to high fossil fuel use? (1 point)
			


5.  From the website portion of the lab (3 points):
Your topic is marine life.  Circle the Y for the best resource for a science project and for that resource explain why you chose it.  Only circle one Y.    Circle N for the two you did not choose and explain why you did not choose it.  

Resource #1  	 		A New York Times interview with Dr. Jane Lubchenco (a marine biologist from Oregon State University) article dated June 25, 2009 (authored by a NYT reporter)
Chosen?    Y/N     Why or Why Not?


[bookmark: _GoBack]Resource #2  			A Website:  http: www.marinelife.org  -  Marine Life Fact Sheet (no author listed)
Chosen?    Y/N     Why or Why Not?

Resource #3  	A paper, “Decline in marine commercial fish stocks in the North Pacific” in Science, May, 2013 written by Ken Smith, Ph.D., Senior Marine Scientist at the Monterey Bay Aquarium Research Institute
Chosen?   Y/N      Why or Why Not?




Bonus:  Where is most of the world’s oil located (1pt)? 


Of the adaptations we looked at for avoiding predation which one did you think was best and why? In other words if you were one of those creatures which adaptation would you hope to have? (1pt)
